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SAT(K-10)

GEOGRAPHY AND SOCIOLOGY.

y'l'he correct decreasing order of the
-neighbouring countries based on the length

of the border that India shares is
1) China, Bangladesh, Nepal, Pakistan
2) Bangladesh, Pakistan, China, Nepal
3) China, Bangladesh, Pakistan, Nepal
Bangladesh, China, Pakistan, Nepal

V4

57. Choose the right arrangement of mountain
ranges of India from South to North.

1) Western Ghats, Vindhya Ranges, Satpura
Hills, Aravali Hills

2) Western Ghats, Aravali Hills, Satpura Hills,

Vindhya Ranges
~ ))’@-:rn Ghats, Satpura Hills, Vindhy

Ranges, Aravali Hills

4) Vindhya Ranges, Western Ghats, Aravali
Hills, Satpura Hills

lss:’uatcncolumn "A" with Column ‘B’ and choose
correct answer. .

Column - A Column-B

a
p! .

park
b. Sundarbans ii. WestBengal
. Gir National park  iii. Gujarat
. d. Tandova,NjﬂmaL#mmarashha
park
a b c d
K i i v
2) i i i iv

- Kaziranga National i. Assam

3) i

iv i ! ii

i i iii

18

T
z.:i:amacféaag D xassazwag

56. yeusg ﬁdua;g’rwmd, €3 Toudrodchz
ganang NWZT eRoE Sheed (S et ol 1an)
TDEY &‘!.racazamr} 2O Hocing DI

1) e, moompdes, Sexny, TEAD
2) wooTRTES, TRETS, e, Semoy
9) e, woorpdies, TSRS, Hewoy
4) tongties, wem, TR, Sewos

57. wRo3d B3 redon NBSEHE 81 T Ferdny

HOIRT wrbEhrds,

1) =g enisd, QOGP TS Jesd, TIT
B8, sooTe Bered

2) TR Punih, soese Berish, o
aerish, DOFTTFZ Feed

9 T P, me dg, dogmises
3eed, vooTO AL TALY

4) QOTPITFS Ferd, YD P, woome
B, I Bened

58. ‘A'Ttiohah, ‘B’ Wjoleodn @eods. ocing
wguaag 30%&?@.

T - A =t - B
a. zdon uaeé)co:b i. @O
waaéaam
b. ®ows wS ii. wgas: Loy
c. hot ua@coﬂa iil. hxoese
WRIT
d. saodma‘a'ca%cob iv. abmuag;
NRET
a b c d
1) i ii iii
2) i iii ii
3) i iv iii
4) iv i i
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yhe total population of an area devided by
its geographical area gives
1) Population Index

o 2) Distribution of population

Population Density
4) Population growth rate

‘yMatch Column ‘A’ with Column ‘B’ and choose

correct answer,
Column - A Column - B
a. RawatB < Thermal Electricity
b. Barauni ii, Wind Energy
c. Nagarcoil i. Automic Energy
d. Baramal-__—’-.lu. &m%a
b € d
e < ﬁﬁ i i iv
2) i i ii iv
3) iii i iv i
4) iv jii i i

64. Section 25 of Indian Constitution provides
following right to Citizens of India

1) Guarantees educational facilities to alf

2) Guarantees reservation in political field to
scheduled castes and tribes

3)/Guarantees reservation in the employment
“sector to scheduled castes and tribes

0( ;‘{,\s' Guarantees free entry to all people to social
and religious places

65¢ The main ¢ause for Land ‘degradation in
Punjab, Haryana and Western part of Uttar
Pradesh

1y Intensive Agriculture
er Irrigation

3) Deforestation

4) Mining

O O O

62. womh ¥e FteBnOwE WAy BRY Hosdonib,
¥ Pamnesn §e300on pnamen wthgh

1) asdrdoa:raé zsoed
2) a:.amo:.oa5 TosE
3) =0T
4) mﬁxoaﬁaﬁ BIIBR o
63. “A’'Triob ‘B Teicdeodn Rechs, Xocing
wgdamd uo:%ma. ™

Ty - A el - B
a. ;T wtm I gbrer Hz®
b. W& . WSS
¢. Sendmoes méfmﬁg
d. moeebo* lv. Foachs
a b P2 d
1) il i i iv
2) i iii i iv
3) iii i iv i
4) iv i ii i

64. (R0 MopURE 25 B¢ Bataleh ol 353 enoezon
aektha 36%

1) 2Q0R» AT Ségséi Ty

2) Cowdecd ge3md TOL 28 DB Tody
TONBTH[OR exend :5’?)0&;515 '

3) wipensuadad T = Dy Tody
TONBEHOR wexews ?5908,‘%

4) 9Y wIONL WTEEIT GoFY eoTivD,
TBed2TW wsey

-'65. “TWorws, wam:a'd:at_:. nIT Fdess wgﬁa
wing @e S8R (Land Degradation) ama)é
LD

1) %008 g

2) ©30IT VeoITO L
3) &959@6 o3

4) nedrodd
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atch the nations and the respective names
of cyclones and choose correct answer.

A B
a. India __ _-_t—e—l.v Thane
b. Bangladesh- i, Giri
¢. Myanmar— Aii. Mujan
e d. Oman. —  “jy. Jal
a b c d
Q. v i i i
/ 2) ii iii i iv
4 3) ii iii iv i
4) iv i - i i
!Mchﬂnfollwhgmdmosecomctm.
Animals/Birds | Category of
a. Indian Rhino i. Rare species
b. Hornbill ii. Extinctspecies
c. Aslatlccheetah/lli. Vulnerable
species
d. Gangtic Dolphin_ iv. Endangered
species
a b c d
1) iv ii* i iii
/ v e i
3) iii i iv i
4) i ii i iv

}/Arrange the area covered by types of soil in
India, in increasing order

—1) Laterite soil, Red soil, Black soil,
AN e
2) Laterite soil, Black soil, Red soll,

Alluvial solil
3 Alluvial soil, Black soil, Red soll,
Laterite soil

4) Alluvial soil, Red soil, Black soil,
Laterite soil

68. DeBndy w3 vorInchInv, wac
BORT 03I, wol Fnd.

A B
a. o2 i. posd
b. wompies ii. Ad
c. axnoizago‘ iil. Sowens
d. Lahat iv. mo*
a b c d
1) iv i i iii
2) ii iii i iv
3) ii iii iv i
4) iv iii i i

69. 8 Ttytv, Beods, HORE WwIT:

ok RR.
s /=Y, Jlewne
e&gd AT~
a. |oRoHT" Fdne I. oZdezs
(Feomaiy) Tpdeds
b. Za'ract ll. SsRecdn
Tpdes
C. IR wod lil. ohwro Flew
d. riore SOoch WO iv. PPITOUROL:
Tdew
a b c d
)iv i P
2 iv i i
3) iii ii iv i
4) iii ii i iv

70. FROSTY QG deded abngm*- Towdosn o
TCRDS DIRTR BReTD T ocinG 30&3
=IRA. Fa .

1)03&3%@3’ mmg g0 absaps LE9) a3oreY
BBLD 'ai:s‘a% R——

2) CRRGET ey, 8 Fhewy, oy Rore,
abgcn mr%

9) Sen ey 8 adeay 803 abegy eopgsy
FER

0 .
4) g woeR, oY e,  BH) oesy,
oaswddw oeay
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/z./ First Indiian Woman President s coded as (P),
Prime Minister as (Q), Governor as (R) and
Chief Minister as (S) and their names are
given below.

; a. Indira Gandhi
‘ b. Suchetha Kripalani
| ' c. Prathiba Patil
d. Sarojini Naidu

- Whlchoneofmefollowingcholcesrepresents
PQRS order ?
1) cabd 2) dcba
3) dabec #cadb

- Regional Co-operation Organisations of |

different nations are given below.
I. SAARC /14¢
ii. ASEAN

lii. EuropeanUnion /997

iv. AfricanUnity /34>

Identify the correct choice of these
organisations in the chronological order of
establishment.

)0, i,
2) iv, i,
i, |,

4) ii, v,

9/head the following statements and select the
correct option.

Assertion (A) : The Governorof a State
cannot be dismissed by the Chief Minister.

"(_)eés'on (R) : The Governor of 4 State is niot
elected.
1) Both'A'and ‘R’ are true and ‘R’ is the correct
explanation of ‘A’
o 2)/ Both ‘A’ and ‘R’ are true and 'R’ is not the
correct explanation of ‘A’
3) 'A’ls true but ‘R’ is false
4) 'R’ is true but ‘A’ is false

iv, ii
L iii
ii, iv
i, i

o

24

T

73. RUST Y e TRERE I TR, (P) o
TR Foseh), (Q) womis, TR IROTY,
Q00R, SoQHodehII, (S) Fors Es
SRENTD, 850 JrchrieD, 8 SR deroni
a. YohTe MoR
b. ez gHoed
c. J3yw Twideer
d. dReud ook
8 FENIYNYQ cinz solods PQRS b

gaaazagd?
1) cabd 2) dcba
3) dabe 4) cadb

74. 225 RS IWLeds BET Hoprsnesy,
&1 Redennd.
I. msts
il. Qacins*
lil. cindreaowa® chadoba®
Iv. ©$E" chadu
& Mogusnw NIRRT BRI
dackan wobohay ez,

1) i,
2) iv,
3) i,
4) ii,

75. & N Seodnvm, LO0 ey Hooin:
wobobh, wox. e
EstEerlar (A): oo® oo YORY,
SwFHoH T IRR ORI DY,

B <1~ 1 (R) : ooy RO
BEROLITNLZ DY.

1) ‘A DB R 28@e 0 =
R, 'A' 3 Bocins dnosamas

2) ‘A R R 0L %6 wd -
R, 'A' 8 Rocins amcsoby

3) ‘A Xo ¢BS R 3=

4) 'R X0 ¢@s ‘A Iz
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p/whom would you consider as unemployed
related to the following situations ?

A. Afarmerina farm produces 100 kg paddy
in one acre of land during every season.
In addition one year his adult son Raju
joined him in farming. But output

remained the same.

B. Raghu has income by his huge property

to lead comfort life. So he does not work.
v~ / 1) Rajuis unemployed
- #“Raghu is unemployed
3) Both Rajru and Raghu are unemployed

4) Both Raju and Raghu are not unemployed

yndicators of development are given below.
a. National income
b. Percapitaincome
¢. Life expectancy
d. Educational achievement
e. Rate of women’s job participation
/ f. Standard of living

Which of the abﬁve indicators are méasured
in Human Development Index ?

1) a, b, ¢

x c df

3) ab,e

4) d, e, f

e

00 O O

79. 8 AT T FeIner Towoamod Aex
CIRTR, ATLTREANTODD JOMIHAO 2

A. SEley 3§, nomh 983 TWEANY g

WBERFEOL 100 £23. PIT, LoTE:

TR ITT. 9= edn Lo INE ek

| Sobxy i v Eed 8 tvamdahe

" Zedntaod. vod e dwg e

e,

B. O 3§, weIn dIF=smN I, T

. BA0W0T wmRobIR, NeDIE. T
[ID cIRPde FUTT, INWHIY.

1) ooz ad)cir%en

2) Oz amdr%en
3) Cez I T ‘YR Z&cbd.raémm;b
4) Doz D) T QTR ?Dd)d:%ehﬂdg

- ORF 00D mwanm B 3@8 VBN,

a. Tegyeadh t-scraoﬁ/gﬂ}’ﬁ {/fiﬁ@

b. Ioetecdh M
C. V0ed 3 BeDHTY _
2 <
d. 3308 g 2 2D
e. todobd dorc gmaanma‘@u
e | x ©
ol BesREDY  we LD
! -z

B DORYNY SRRy IS SR

Apuche wéo:bcarbgd 2
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87. The lowest common multiple of two numbers
is 14 times their greatest common divisor.

The sum of LCM and GCD is 600. If one
number is 80 then other number is

- 1) 600 2) 520
3) 280 4) 40

88. The shaded portion in the given Venn diagram
represents

P Q u

s

1) Pu@
3) (P'n Q')'

2) Pln Qa

4{ (P' U Q')'

B C.

89. In AABC, the altitudes AL, BM and CN are
intersect at ‘O’. The value of AN x BL x CM is
same as

-~ 1) BNXLC x AM
| 3) OL x OM x ON

2) AL x CN x BM
41 OC x OB x OA

) 90. Ifthe letters of the word “FATE” are arranged
. as in a dictionary without repetation, then the
rank of the arrangement of “FAET” is

@ N 2) 13
A 3) 14 4) 15

91. There are 12 points in a plane of which 4 are

c collinear. The number of straight lines and

prggetias, p{"; triangles can be formed from these points
YQD are respectively

©
p #7760 and 220
3) 65and 216

2) 66and220
4) 61and216

92. In AABC, AC =BC and AD | BC. The value
f AD2-BD?is
1) 2BD x CD
3 2 (8D +CD)

2) 2ACxCD
4) 2 (AC +CD)

28

(R

87. U@ ﬁoaﬂ'sn# VM. I LPHNY DHom.es.
14 Taa. 5150336)“'5 DMWY, DB oW,
<R3 600. QYINYY womd :doasa 80 =u

am omh B a%
1) 600 2) 520
3) 280 4) 40

88. &nuha IFF UIRY GrobReVAT (shaded
ATTg )

P Q u

2) PPAQ

4 (Prua)

). PuqQ
3) (P'mQ')'

89. AABC o9 AL, BM Eb#: CN aﬁdﬂﬁb ‘0
89 =Ko dc&:b!as mmwd AN x BL x CM#
ﬁabmcbc.‘o

1) BN x LC x AM
3) OL x OM x ON

2) AL x CN x BM
4) OC x OB x OA

“FATE“. TOT ©g oneRy, a;‘)a‘caaas'ﬁd
RIAIER 1ol _gd:mn draca,omﬁ. “FAET"

eﬁdﬂ'é Brcarod WD) 2 4

1) 12 2) 13 f"_'.__’ﬁ

3) 14 4§15 ¥ Z
2%

ol. ZHIBODLE 12 Bombned 4 HodbRe
QFCCNRBTRNS. B4 nombndsh, evIcdecny
CURWTRT, BOvSes wH) gz;bzsrw x}i'p

j,mmn Qe, a
3 /
“1) 60y 220 2) 66 226 7',
3) 653216 4) 613 216"
%6 +24
92. AABC &h9) AC=BC =3 ADL BC, &
AD—BD? ¥ i3
1) 2BD x CD 2) 2ACx CD
3) 2(BD+CD) 4) 2 (AC +CD)
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96. The Standard Deviation (S.D.) and mean of
two groups A and B are given below.

Group Standard Deviation Mean
A 3 70
B 4.2 60

The true statement among the following is
l. Ais more consistent than B
Il. B is more consistent than A
lil. Ais more efficient than B
IV. Bis more efficient than A
1) Only I and Il are true
2) Only I and IV are true
3) Only Il and il are true
4) Only Il and IV are true

97. The angle of elevation of the top of a tower
from two points at a distance of ‘a’ and ‘b’
(a> b) from its foot and in the same straight
line from it are 30° and 60°. The height of the

tower is
b
1) ays )
1
= 3) Jab 4 =

98. The condition for points (a, 0), (0, b) and
(1, 1) lie on straight line will be

zr—a:_b=f

3) a-b=1 4)

1) ab=1

S

99. The ratio of income of two personsis 11:7
and the ratio of their expenditures is 9: 5. If
each of them manage to save 7 400 per month
then sum of their monthly income is

1) ¥3,600 2) ¥3,200
3) ¥2,800 4) 31,700

100. fy=a+a?+a’+..

_ © where |a | <1 then,
the valueof ‘a’ is

y y
o 1 1+y 2)/1—3/
3 — 49 1Y

) y ) s

=1
< o= 0
oras

96.

97.

100.

O O
O

A D3 B roPnd Inwr duod B
XovHoneh 8 $¥noas.

o ST Juod
A i 3 70
B 4.2 60

= wnwnvg ook Heedn

I. Acko Bhoz & g2 2r0dd
Il. Badw Ahoz &u‘z %d:i 2rodd
. Aci» Bhoz asu;‘ o83 2rodd
IV. Bodo ANos @b ©82 Reodd

1) 13 sEng 30
2) 1R IV 3wg xo
3) I Il S0 xo

=L

4) 123 IV 303, 50

Xooxonh

Recos mmmdom ‘a’ = ‘b’ BATEOHS,
(a > b) wotde Seon9tE atm  Dombrvoy
Recgos BOCLY, RDLAVTN LootRHT
WHE Eresmy gbaen 0T 60° wud
Reeyon o3

b
1) aa N

v
3) Jab 4) s

- (@0), (0,b) = (1, 1) vombrsh 2o

ToeSeadehd wolenns v awogs

1 ab-T 2 1
b—1 I 1
3) a—-b= 4) 7_

ﬁt&dc S3n¢ I3 Soned nems emobny

IR 11 7 B o0 e YR 9: 5
SN, 2R J3 Jorish I T 400 sveTRed

ERATY, ©T0 Jones smeds o 3n3

1) 3,600 2) ¥3,200

3) 2,800 4) 1,700

y=a+a'+@+..0 99 |a|<1938, ‘a's ,

ud ‘
- = |

" Ty 2y )
1+y <|__y I
= /S ) 0 VRS

3) y ) - J
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